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Pressure Sensitive Distillation T

Methanol(1)-THF(2)
Activity coefficient model : ASOG
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System : Ethyl acetate(1)-Ethanol(2)-Cyclohexane(3)
F=1.0 [mol/h], D1=2.5 [mol/h] , D2=2.0 [mol/h] , W1=W2=0.5 [mol/h] , R1=R2, P1=1.0atm, P2=0.1atm

X¢=(0.4995,0.4995,0.0010), Xw11 0.9950, xw, 0.9950
( )NRL  NFL ( )NFL  NRL
D2 D2
@'NDl @'NDZ /@'Nm (@'NDZ
NF2 NF2
F——INF1 ERy
NW1 NW2 Nw1 NW?2
w1 W2 w1 W2
ETHYL ACETATE ETHYL ACETATE
1 A Pressure = 10132.50 Pa 1 N Pressure = 10132.50 Pa
o Pressure = 101325.00 Pa o Pressure = 101325.00 Pa
o
NRC 6 NRC 6
- NF1 1 NF1 3
o.sz\\ NW1 20 0_52\\ NW1 18
= NF2 25 NF2 23
| NW2 30 NW2 27
i R1=R2 3.0 R1=R2 3.0
i \ :
CO 0.5 1 CO 1
CYCLOHEXANE ETHANOL CYCLOHEXANE ETHANOL
ETHYL ACETATE ETHYL ACETATE
L N Pressure = 10132.50 Pa L N Pressure = 10132.50 Pa
o NF1 Pressure = 101325.00 Pa o Pressure = 101325.00 Pa
NRC 8 NRC 6
NF1 11 NF1 4
0,51%\ NW1 20 0,51%\ NW1 18
NF2 26 NF2 24
NW?2 29 NW2 27
R1=R2 4.0 R1=R2 4.0
X 1 X 1
CYCLOHEXANE ETHANOL CYCLOHEXANE ETHANOL
ETHYL ACETATE ETHYL ACETATE
1 BN Pressure = 10132.50 Pa 1 Pressure = 10132.50 Pa
o Pressure = 101325.00 Pa 700 Pressure = 101325.00 Pa
NRC 7 NRC 6
NF1 8 NF1 4
O'Sz\ NW1 19 O'Sz\ NW1 18
NF2 22 NF2 22
NW2 27 NW2 26
R1=R2 5.0 R1=R2 5.0
X 1 X 1
CYCLOHEXANE ETHANOL CYCLOHEXANE ETHANOL




